H & 0 & AHSH & M A
20249 204 LBSIH ARS
SN AQE
B AR A
ciel: BE=XMEH HASY U BN X (crol: @)
SA - B . B(30) - HSAIY - BAS Ol &k e HimE==T
ARS 310,536 271,032 39,504
223 AHSZHI 257,976 218,552 39,424
HHE=SNHEH W2 & AL RIE 141,766 125,892 15,874
XX 24 76,030 66,500 9,530
201 LBr2A| 20,500 14,500 6,000
01 At22t2lt| 19,000 13,000 6,000
OdIEH2g 2ot~ H| 4,000,000 4,000
ORase 50,0003 *25F *12& 15,000
02 33=2Z4| 1,500 1,500 0
OA2s=0ls|2t & AMdsXl2elt]
1,500,000& 1,500
301 LBetEXZ 51,265 52,000 AT735
11 HARHIXIES 7,000 7,000 0
OFCUXXAEs A5 & XA
ZAst 100,000 *25 2,500
OXHZE A FOUXXI2 23 (HA3S) &5
Fagell 100,000 *20H 2,000
OF0UXX T2 2 500,000& 500
O==&4Y 350 2,000,000& 2,000
14 JIEt2 a3 44,265 45,000 AT735
OZ A=< 44,265,000& 44,265
401 A& BIZ20Hb| 3,000 3,000
01 Al&HI 3,000 3,000
OCI 2+Ek x| 3,000,000& 3,000
405 XHoHE SHI 1,265 1,265
01 MU =EFSHI 1,265 1,265
OFTMHI S 2L 1,265
- E D] 473,000 *1CH 473
-AZ25 &= 660,000 +1CH 660
~HEARIX 132,000 *1CH 132
FOIHAIL XA 60,136 59,392 744
201 Let2AL| 57,536 56,792 744
01 ArR2teltl 32,836 32,092 744
OFAI ROIZHIANAH 42
290,000& 123 3,480
O&F=I| & 5l dxt=z
482,000 128 5,784
O3JI18&EI| gx=z
50,000& *3CH*12& 1,800
O=g) Xtz 231,000& 123 2,772
OFEAN d9Aa=Exz 60,0003 *12& 720
ONI| oHMEH a2
130,000& 123 1,560
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